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Ratio and proportion Questions for SBI PO Pre, IBPS PO Pre, SBI
Clerk Mains, IBPS Clerk Mains & LIC AAO Exams.

Direction: Read the following questions carefully and choose the right answer.

1. An alloy A is formed by mixing gold and silver in the ratio 2 : 1. Another alloy B is
formed by mixing silver and platinum in the ratio 3 : 4. An alloy C is obtained by
mixing alloys A and B in a certain ratio such that the ratio of gold and platinum in alloy
Cis 5:6. Which of the following correctly represents the share of silver in alloy C.

29 37 17 49 19
A— B.— C.— D.— E.—
51 13 31 126 35
2. In the income statement of Asha and Ravenna, the ratio of their income in the year

2017 was 5 : 4. The ratio of Asha’s income in the year 2018 to that in 2017 is 3 : 5 and
the ratio of Ravenna’s income in the year 2018 to that in 2017 is 3 : 2. If Rs. 10242 is
the sum of the income of Asha and Ravenna in the year 2018, then find the income of
Ravenna in the year 2017?

A.Rs. 1024 B. Rs. 1138 C.Rs. 2776 D. Rs. 2420 E. Rs. 4552

3. Three friends Aravind, Bharat and Chandu are about to have their breakfast. Aravind
has 7 apples, Bharat has 5 apples and Chandu has no apples but has 12 coins. He offers
to pay for some apples. They agree to share the 12 apples equally among themselves
and agree that Chandu would pay 12 coins for his share. Bharat suggests that he be
paid 5 coins and Aravind be paid 7 coins. Aravind says that he should get more than 7
coins. How much should Aravind get?

A. 11 coins B. 10 coins C. 12 coins D. 8 coins E. 9 coins

4, The average score in an examination taken by 52 students of a class is 85. If the scores of the
best 5 performers are not considered, the average score of the remaining students falls by 2.
If, none of the first five highest scorers is not below 80 and if each of the 5 top scorers had
distinct integral scores, find the maximum possible score of the topper.

A. 108 B. 109 C. 177 D. 193 E. 183

5. A bag contains certain number of coins of different denominations. The ratio of the
number of Rs. 1 coins to Rs. 2 coins is 5 : 7, respectively and the ratio of number of Rs.
2 coins to Rs. 5 coins is 7 : 6 respectively. Find the total value of the Rs. 5 coins, if the
total value of the Rs. 1 coins in the bag is Rs. 15.

A. Rs. 180 B. Rs. 90 C.Rs. 45 D.Rs. 115 E. None of these

6. A father distributed some chocolates among his four children and kept some with him.
The eldest three children got chocolates in the ratio 3 : 11 : 7. The total number of
chocolates with father and youngest child is three times the total chocolates with the




three eldest children. The ratio of chocolates with father and that with all the children
is 3 : 4. Find the total number of chocolates if the youngest child has 81 chocolates
with him?

A.273 B. 252 C. 276 D. 303 E. None of these

1. Sumit hired a travelling car for a tour. If the car is rented for 8 hours or less the charge
is Rs. 100 per hour or Rs. 8 per km whichever is more. On the other hand, if the car is
rented for more than 8 hours, the charge is Rs. 80 per hour or Rs. 6 per km whichever
is more. Sumit used the car for 120 km and paid Rs. 800. For how many hours did he
took the car for rent?

A. 12 hours B. 9 hours C. 10 hours D. 8 hours E. 11 hours

8. In class X of a school there are two sections A and B with strength ratio 2 : 1. The ratio
of boys and girls in section A is 3 : 1 and that in section B is 3 : 5. Students of both the
sections are made to stand in the ground in rows of boys and girls, with each row
having equal number of students. If the maximum number of students possible in a
row is 96 what is the difference between the number of boys in section A and B?

A. 218 B.286 C.372 D. 288 E. None of these

9. The ratio of marks obtained by Shubham in theory to the total marks which can be
obtained in theory is 7 : 10. Total marks which can be obtained in practicals were 20%
of the total marks of theory. If Shubham got full marks in practical then find the ratio
of total marks obtained by Shubham to the total marks which can be obtained in the
subject (theory + practical)

A.4:5 B.3:5 C.5:6 D.3:4 E.2:3

10. The ratio of salary of A and B is 5: 7 and that of B and Cis 3 : 5. The salary of A is Rs.
165000 and C spends 28.56% of his salary on rent. How much money is left with C
after expenditure on rent?

A. Rs. 296000 B. Rs. 268000 C. Rs. 282000 D. Rs. 275000 E. None of these

11. Incomes of John and Kelvin are in the ratio 4 : 7 and their spending are in the ratio 6 :

11. If John saves one third of his income, then what will be the ratio of their savings.
A.12:13 B.13:12 C.18:19 D.12:19 E. None of these

12. The monthly expenditure of Irfan is 40% less than that of Imran. If at the end of the
month Imran and Irfan save Rs. 12,000 and Rs. 10,000 respectively and the ratio of
monthly income of Imran and Irfan is 8 : 5 respectively, then the yearly income of
Imran is how much more than yearly income of Irfan?




A. Rs. 42000 B. Rs. 504000 C. Rs. 504200 D. Rs. 50400 E. Rs. 50800

13. A person invested some amount in two schemes A and B in the ratio of X : Y
respectively and received equal interest from both the schemes after three years. If
the rate of simple interest in both the schemes A and B are in the ratio of 7 : 5, then
find the value of X : Y.

A.4:7 B.5:6 C.5:7 D.5:4 E. None of these

14. In arace of 300 m P beats Q by 25 m and Q beats R by 15 m. If P and R should finish
the race at same time, what head start should P givetoR ?

A.36.25m B.37.55m C.38.90 m D.21.25m E. None of these

15. The monthly income of A and B are in the ratio of 3: 4 respectively and the monthly
saving of A, B, and C are in the ratio of 4: 5: 6 respectively. The monthly expenditure of
A is Rs. 2500 less than that of C and the monthly expenditures of B is Rs. 1000 more
than that of A. Every month, C spends Rs. 5000 then how much money does he save?

A. Rs. 4500 B. Rs. 3000 C. Rs. 35000 D. rs. 2500 E. None of these

16. In a school, the ratio of the number of boys to the number girls is 7 : 5. When some
number of boys and some number of girls left the school, then the ratio of remaining
number of boys to the remaining number of girls become 7 : 5. The number of boys,
who left the school was what percentage of the number of girls who left the school?

A. 150% B. 140% C. 58.33% D. 112.5% E. Can’t be determined

17. In a head office of RRB, 250 persons are employed in which some are male and some
are female. 33.33% of the number of male is equal to half of the number of female.
Find the difference between the number of male and the number of female working in
that head office?

A. 50 B. 100 C. 150 D.75 E. None of these

18. Five years before, the age of father was 5 times of the age of son. Ten years hence, the
age of father will become 2.5 times of the age of son. At present, what is the ratio of
the sum of their ages and the difference of their ages?

A.5:3 B.16:9 C.3:5 D.9:16 E. None of these

19. 1/8% part of an electric stick is black, 2/7™ part of the remaining is blue and the
remaining part is white. If the length of the white part is 15 cm then find the length of
the electric stick?

A. 28 meters B. 30 meters C. 24 meters D. 20 meters E. None of these




20. If the incomes of Arun and Varun are in the ratio 5 : 7 and their expenditure are in the
ratio 3 : 4, then find the ratio of their savings.

A.3:5 B.2:5 C.5:7 D. Can’t be determined E. None of these

21. The number of employees in a company is reduced in the ratio 3 : 2 and the salary of
each employee is increased in the ratio 4 : 5. By doing so, company saves Rs. 12,000.
So, find the initial expenditure of the company on salary.

A. Rs. 72000 B. Rs. 62000 C. Rs. 82000 D. Rs. 52000 E. None of these

22. Annual incomes of Amit and Veeru are in the ratio 3 : 2, while the ratio of their
expenditure is 5 : 3. If at the end of the year each saves X 1,000, the annual income of
Amit is

A. Rs. 9000 B. Rs 8000 C. Rs. 7000 D. Rs. 6000 E. None of these

23. The average age of four friends Reena, Sandhya, Yamini and Sujata is 21 years. The
sum of the age of Reena and Sandhya is 14 years more than the age of Sujata. The
difference between the age of Sujata and Sandhya is 4 years the difference between
the age of Sujata and Reena is 6 years. Find the average age of Reena, Sandhya and
Yamini after 3 years.

A. 22 years B. 25 years C. 21 years D. 23 years E. 26 years
24. Rs.99,000 is to be divided between A, B and C. The ratio of share of Aand Bis 3 : 7.

The share of B is 5/7t" the share of C. What is the difference between shares of A and
C?

A.Rs. 34000 B. Rs. 15000 C. Rs. 35000 D. Rs. 49000 E. None of these

25. Marks obtained by Mohan in Hindi and English are in the ratio of 4 : 5, respectively,
while ratio of marks obtained by Mohan in Maths and Science is 5 : 6, respectively. He
scored 36 marks more in Science than in English, and 32 marks more in Maths than in
Hindi. Find the ratio of marks obtained by Mohan in Hindi and Science.

A.5:6 B.6:7 C.2:3 D.1:2 E.4:5

26. The income of Suresh and Rakesh are in the ratio 5 : 4 and their expenditure are in the
ratio 3 : 2. If each saves Rs. 6000, then Suresh’s income can be:

A. Rs. 12000 B. Rs. 15000 C. Rs. 16000 D. Rs. 10000 E. None of these

27. The cost price of 2 shirts and 3 jeans is Rs. 2200 and the cost price of 2 jeans and 4
shirts is Rs. 2400. Find the ratio between the cost price of the jeans and the shirt.




A.8:9 B.10:7 C.6:5 D.11:10 E. None of these

28. A shopkeeper has a number of apples and oranges in the ratio 11 : 17. He has to pack
both the fruits in a certain number of boxes such that each box contains equal number
of apples and equal number of oranges. If the difference between the numbers of
fruits of two varieties in a box is 72, and the number of boxes is 16, what is the total
number of fruits?

A. 5440 B. 5376 C. 5200 D. 2240 E. None of these

29. A child paints a sphere with two colors yellow and blue making the ratio of yellow and
blue area 1: 3. If the ratio of yellow and blue area in the upper hemisphere is 4 : 9, the
yellow area in lower hemisphere is what percent of the blue area in lower
hemisphere?

A. 17.89% B. 24.45% C.21.17% D. 23.81% E. None of these

30. The monthly incomes of two persons are in the ratio of 4 : 5 and their monthly
expenditures are in the ratio of 7 : 9. If each saves 50 a month, then what are their
monthly incomes?

A. Rs. 400, Rs 500 B. Rs 200, Rs 250 C.Rs 100, Rs 125 D. Rs 300, Rs 375 E. None of these

31. Madhu has three friends; Sonam, Divya and Radha. Ratio of monthly income of Sonam
and Divya is 5 : 6 respectively and the ratio of monthly income of Radha and Divya is 4
: 3 respectively. Monthly income of Madhu is twice that of total monthly income of all
her three friends. If monthly income of Madhu is Rs 26600 then what is the highest
monthly income of any of her friends?

A. Rs. 5500 B. Rs. 5600 C. Rs. 4600 D. Rs. 5400 E. Rs. 5800

32. Gajodhar and Manohar's salary ratio was 3 : 4 one year ago. The ratio of their
individual salaries between last year’s and this year’s salaries are 4 : 5 and 2 : 3 respectively.
At present the total of their salary is 4160. The present salary of Gajodhar is?

A. 1200 B. 1400 C. 1600 D. 1800 E. None of these

33. A certain sum of money was divided among P, Q and R in a certain way. Q received
one third of what P and R together did and P got one fourth of what Q and R together
did. Find the ratio of shares of P, Q and R respectively.

A.5:4:11 B.4:5:11 C.5:11:4 D.11:4:5 E. None of these




34. Sweeta is 10 years younger than her sister Seema who was 14 years old when her
mother was 34 years old. The ratio of the ages of the mother and Sweeta after 6 years
will be 2 : 1. After how many years the average of their ages will be 39.33 years?

A. 3 years B. 2 years C. 4 years D. 1year E. 5years

35. A man divides Rs. 125000 among his 4 wives. 2 times the share of the first wife, 3
times the share of the second wife, 4 times the share of third wife and 6 times the
share of the fourth wife are equal. Find the amount received by the third wife?

A. Rs. 20000 B. Rs. 30000 C. Rs. 35000 D. Rs. 40000 E. Rs. 25000

36. 4 years ago, the ratio of the age of two friends Virat and Dinesh was 3 : 1. Their
present age differ by 4 years. Find the average of their ages, after 2 years?

A. 12 years B. 14 years C. 11 years D. 13 years E. 10 years

37. The present age of Arjun and Radhika is in the ratio 3 : 2 respectively. 9 years ago, the ratio
of age of Arjun and Shyam was 4 : 5 respectively and Radhika was 10 years younger than
Shyam. What will be the ratio of age of Arjun and Shyam after 3 years.

A.5:8 B.4:5 C.8:9 D.3:4 E.7:9

38. 5 years hence, the age of Deepika will be 5 years more than the age of Alia. The ratio of the
present age of Deepika to that of Alia is 7:6. What will the age of Deepika and Alia after 6
years?

A. 44, 39 B. 42,37 C.41, 36 D. 38,33 E. 40, 35

39. The ratio between percentage value of X part of Revati's daily wages which is Rs 300 and
22.5% of Janki's daily wages is 2:1. If X% of Janki's daily wages is equal to Rs. 60, then find
the value of X.

A. 25 B. 30 C. 300 D. 250 E. 40

40. In a company there are 78000 employees out of which males and females are in the ratio 7 :
6. Out of the males 35% are working as HR and out of females 25% are working as HR. Find
the total number of employees working as HR in the company.

A. 25700 B. 27700 C. 23500 D. 23700 E. None of these

41. The income of Suresh and Rakesh are in the ratio 5 : 4 and their expenditure are in the
ratio 3 : 2. If each saves Rs. 6000, then Suresh’s income can be:

A. Rs. 12000 B. Rs. 15000 C. Rs. 16000 D. Rs. 10000 E. None of these




42. Given that 24 carat gold is pure gold, 18 carat gold is 3/4" of pure gold and 20 carat
gold is 5/6%™ of pure gold, the ratio of the pure gold in 18 carat gold to the pure gold in
20 carat gold is

A.5:8 B.9:10 C.10:9 D.8:5 E. None of these

43. The average of salary of all 35 employees is Rs.22000. If the average salary of all
regular employees is Rs.25000 and average salary of all part time employees is
Rs.18000, then find the ratio of total regular employees to the part time employees of
the company.

A.4:3 B.5:3 C.4:5 D.5:4 E. None of these

44. The ratio of the income of A and B is 7 : 8 respectively while the ratio of the income of
B and Cis 5 : 4. Find the difference between the incomes of A and C if the average of
the income of A, B and C together is Rs. 10700.

A. Rs. 1050 B. Rs. 700 C. Rs. 800 D. Rs. 600 E. Rs. 900

45. The number of students in school A, B and C are in a ratio of 5 : 4 : 8 respectively. If the
number of students is increased by 40%, 75% and 25% respectively in next year and the total
students after increment is 1200, what was the total number of students initially?

A. 900 B. 800 C. 850 D. 750 E. None of these

46. Monthly salaries of A and B are in the ratio 8: 9 respectively. Monthly expenditure of A is
140% more than the monthly savings of B. Monthly expenditure of B is Rs. 2000 more than
the monthly expenditure of A. Find the difference in the yearly salaries of A and B if the
monthly savings of A and B are in the ratio 4: 5 respectively.

A. Rs. 4000 B. Rs. 18000 C. Rs. 36000 D. Rs. 45000 E. None of these

47. In a town with population of 4500, the ratio of males to females is 3 : 2 and the ratio of
females to children is 4 : x. In election of Nagar — Palika, two candidates are there, children
aren’t allowed to vote and 10% of the eligible population didn’t cast their vote. If the winner
candidate won by 400 votes and the runner up candidate got 1150 votes, then find the value
of ‘x’.

[Note: Total population of village = Male + Female + Children]

Al B.2 C.3 D.4 E.5

48. Shubhash’s age 4 years hence is (x+4) years, Poonam’s age 6 years ago was (y — 6)
years. The present age of Poonam is 10 less than twice the present age of Shubhash.

Shubhash’s age 5 years hence, will be 5 years less than the present age of Poonam.
Find the ratio of the present age of Shubhash to the present age of Poonam.

A.3:5 B.4:5 C.1:3 D.3:4 E.2:3




49. 5years ago, the age of father was 2.25 times the age of his son. 2 years hence, the age
of father becomes 2.6 times the age of his daughter. If the son is 7 years elder to
daughter, find the present age of Father.

A. 45 years B. 60 years C. 55 years D. 50 years E. 70 years

50. The expenses on food, rent and electricity of a family are in the ratio 5 : 15 : 3. The
expenditure on food, rent and electricity is increased by 20%, 10% and 30%
respectively. The total expenses of family thus increased by how much percent.

18 17 18 11 17
A 12—% B.11—% C.14—=% D.24—% E. 15—%
23 21 23 21 23
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1. IR SRTE B 2: 1P U | e IR U1 A U il §| 317 4T B Iict IR WA H13:4F
3T # B R U Bt 8] T 3 U1 ¢, UTd A IUT B B 39 UHR oM W b I iR
WA BT 3FUTT 5:6 81, U Bl 3| | Foferad # 9 & urq ¢ § =it &7 e Siurd S 82

29 37 17 49 19
A= B. == C.— D. — .
51 13 31 126 35
2. ORI SR G & T fIarur &, aef 2017 & ST ST BT U 5 : 4 UTI GY 2018 3R 2017 H S1=MT
T 3T BT AT 3 : 5 8 3R T¥ 2018 3R 2017 F IGAT B 3T HT UM 3 : 2 § Afe a8 2018 H
S{TRIT 3R XGAT D1 S HT AT 10242 F 8, A aY 2017 T G BT 3T I HR?

A.Rs. 1024 B. Rs. 1138 C. Rs. 2776 D. Rs. 2420 E. Rs. 4552

3.  dHF T oRfdg, HRd 3R dg SUAT AR B aldl ¢ | 3Rfdg & Uy 7 99 §, HRd & U 5
9 § 3R dg & UM 13 U9 el 7, dfcp 12 9% &1 98 $© V9 & U Yid= A Bt
URIHRT BT ¢ | 9 12 Y&l 1 3109 T SRI6R dic & [l JeHd g 3R dg 30 g & forg
12 Ryads M1 4R Fa1d & b I8 5 Riad! &1 Ya T a1 $iR eRfde &1 7 Rgwi &1
%HWHEW| 3Rfde Pead ¢ 6 32 7 ¥ e Ry i =ilRu srfde &1 e

A. 11 coins B. 10 coins C. 12 coins D. 8 coins E. 9 coins

4, TUH DD 52 BHEI GRI Al TS TI&T H NG 3ib 85 | Ul TAAY 5 HADRI & 3iHb! IR IR et
fopar SraT g, df AW BT &7 3N9d WhRR 2 ¥ IR Sar g1 afe ugd U SEdH o 6 ¥ i Higo A
%E% 3R e 5 2 T H T UdD & NT-3T S 3 U, T eTiR BT SAfbdH TH 3ih
RIGKCRS

A. 108 B. 109 C. 177 D. 193 E. 183

5. T o H fafte Suer & Ryge! &1 Ffdd Tem 21 1 398 & Rig o G- 3iR 2 300 & Ryadh 3
AT BT AT HHTT: 5 : 7 8, AR 2 39T & RYadh B G-AT 3R 5 ¥UT & Ryads o1 AT H1 S0Td
AR 7: 6 51 5 BT P RIaeh| B Ho HH AT DI | 3R 1 39T & Riaeh| &1 Hd HH 15 FUT g |

A. Rs. 180 B. Rs. 90 C.Rs. 45 D. Rs. 115 E. STH 4 &g gl |

6. T fUarA 304 IR §= & §id $© didhac dic AR S 30 IR T | 3: 11: 7 3 J T4 g9
I S BT Aidpare e | T 3R T B = & U didbale &I Hol AT i g g=i & U
$d didbac BT i A1 ¢ | far & o 3R Gt s & U didhaie &1 301 3: 4 31 Ife Ja9 BiC

S & U 81 Aldalc g, Al e Bl Hol G- T B2

A.273 B. 252 C.276 D. 303 E. STH A IS 8l




7. TN TH IO & o TR R SR ot | A FR 8 ©S 1 3T FHH fH1€ W o Al €, O @=f 100
¥ Ufa °e a1 8 % ufd fpet o ot 3ifties g1 bt R W BT 81 gt 8, Tfe PR 8 He ¥ 31 qma &
o fohRTE R &t SIIclt 8, Y it 80 % Wl ©e AT 6 % Ul fobtdt ot oft 3iftrep g1 pl R G gl g | g A
%ﬁoﬁnﬁwwms@mﬁmaﬁisoosmwm 35 fohaH ¢ & foll R fhe &R

A 126¢ B.9HC c.109¢ D. 8 ®c E.11%¢

8. TUHWHAD UG BHTH 2 1ATAAA G T A NRBE| T AT ASH! 3R TSB!l HT ST 3: 18
R T B | 3: 5 BIGH! Tl &b DT B ASH! R TSba Hi Ufdaal H oHIT WR Wl fhar T |,
T Uied I S B T GHE B T e e B sifidan o 3 TeaT 96 B A v A 3R B A
ASH! DI TS H T 3R 87

A.218 B.286 C.372 D. 288 E. ST A IS g1

9. YA ERI AR H U 3ol SR &R} B U fhT S 9+ a1et ot 3ihl T SUIT 7: 10 §1 $f 3fb
STl o Dfdeard & UTW fol o Tavd &, R & P 3ih! BT 20% UT| TG YHA BT Uidewd d I ik
ﬁ@r%’,a‘rgwmww&@sﬁ?(@ﬁ+%ﬁ)ﬁwﬁwmwmaﬁweﬁm
3T

A.4:5 B.3:5 C.5:6 D.3:4 E.2:3

10. A 3R B P da- BT UM 5: 7 8 3R B 3R ¢ BT 3N 3: 58| AT dd 165000 % & 31K € 3T I
BT 28.56% fhRIT TR T BT ¢ | FAIU TR T B2 & 918 ¢ & U for =11 91 <

A. Rs. 296000 B. Rs. 268000 C. Rs. 282000 D. Rs. 275000 E. 378 I dis ol

11. S 3R Bfeqd B 31T 4: 7 F U H 8 3R BT T 6: 11 b AU A 71 Af S 0= 3419 B
T 8T a1 AdT 8, 1 3P| ad T SUTd a1 g1 |

A.12:13 B.13:12 C.18:19 D.12:19 E. STH I dis ol

12. B &1 ARG Gd SHRM &1 ga-T | 40% HH g1 Tie A & 3fd T B MR SHRM HA:
12,000 ¥ 3IR 10,000 ¥ FAd g MR WBH 3R SHRM HI ARG 3T HT 3T HAS: 8: 5 8, I
SR D! AIND 3 B DI AN 31 I farat 31 g2

A. Rs. 42000 B. Rs. 504000 C. Rs. 504200 D. Rs. 50400 E. Rs. 50800

13. U® Afad A gl arorieil A 3R B T HHRT: X: Y & U H $3 M &1 (3% fan 3R fH wra 918
QI oS ¥ THH 7ol UTed o | afc A SR B &I Arorrsit § WIYRUT S76] $I &R 7: 5 % U
Hg, d x: v BT HE I1d B

A4:7 B.5:6 C.5:7 D.5:4 E. STH A IS 8l




14, 300 HIERX B H P QI 25 Hiex I 8 faa1 3R QA R &I 15 HIeX A 8 far| afe p 3R R HI TP
ST AW G S ], I P B R Y a1 S I ¥ L= B! 1T

A. 36.25 HIex B. 37.55 HIcx C. 38.90 HIex D. 21.25 HieX E. 370 A dls al|

15. A 3R B & ARG 3T HH: 3: 4 % SJUTT H § 3R A, B, 3R ¢ P! ARG §ad HAM: 4:5:6 B
SFUTT & § 1 A 1 HTRIS o0 ¢ & HIRTS g ¥ 2500 YT HH § 3R 8 BT HIRIS A & ARG g o
1000 ¥ 3fYH § | T HGH, € 5000 ¥ W HRll g | A1 I8 [T U1 STl 82

A. Rs. 4500 B. Rs. 3000 C. Rs. 35000 D. rs. 2500 E. ST A IS gl

16. Hd H, ASfHal o WS 3R TSH! B BT BT UM 7 : 5. § d & ASH AR TS AS(HAl
5 BISd 5, Al TSB! Bt AN AT 3R ASHI D1 AW TRSAT BT U 7 : 5 81 ST & | Tod SIS
Tl TS| B! T ASTHal Bt T-AT BT food =T ufawrd ot

A. 150% B. 140% C.58.33%  D.112.5% E. RuiRa 78 fear ST gpar g |

17.  3RIARE & T&IET H 250 Afad FHgad € o 3 o AR € 3R $8 T3¥ §| T8I &t e 6l
33.33% AR B! T/ & 1Y & SRR §| TATAT H HIH B aTdl T3 aUT AT Bt TReT
BT 3R IS

A. 50 B. 100 C. 150 D. 75 E. STH APIS Al

18. UM T Ugd, U &1 SH 9 &1 38 BI 5 A1 At | 54 1 a1, a1 DT 3 9 Bt 31 BT 2.5 AT &I
STETH | gAHT H, ST 3T & TNT 3R IFeh! 3R & 3idR T S(UTd o1 87

A.5:3 B.16:9 C.3:5 D.9:16 E. 378 J dis ol

19. TP 3facd [P BT 1/8 W HTAT 8, VW BT 2/7 U el 2 3R AW YFT Gihg 21 TS The U
TS 15 YH B Al Saifae® Red P Al J1d HIToTg?

A. 28 HeR B. 30 HIex c.24 Htex D. 20 HIeX E.3TH A &Is Tal|

20. T 307 SR GO DI 3T 5: 7 P STATT | § 3R ST T 3: 4 & UM H g, ql ! gad BT
3UTd J1d BIfoTC|

A.3:5 B.2:5 C.5:7 D. Can’t be determined E.3H A &Is

Bl

21. TP HUAI T U Bt WS 3: 2 & U & HH 8l ol § 3R TAD HHAR! BT dd 4: 5
3T § 9¢ SAT 8 | T 6 T, HUAT 12,000 T FAT Tt & | A, Id4 TR HU b L3 T BT Tl
M,

A. Rs. 72000 B. Rs. 62000 C. Rs. 82000 D. Rs. 52000 E. 399 A P18

22. 3iffd 3R I B aIftis ST BT ST 3: 2 8, STafdh 37 T BT UM 5: 3. 81 A aY & T |
YA SAfad 1,000 X ST &, ) ST &1 a1fiies SR




A. Rs. 9000 B. Rs 8000 C. Rs. 7000 D. Rs. 6000 E. ST A IS gl

23. AR Rl S, e, A 3R goirdT & ST 31 21 TY g | AT 3R HeH &b S T AR gorral
D MG Y 14 TY AP § 1 JoITT 3R AT D1 Y BT SR 4 A & oI 3R I DI IH BT 3R 6
TE & 3 9Tl P ST, S, e SR Anfieit bt 3 Smg 71 e |

A. 22 years B. 25 years C. 21 years D. 23 years E. 26 years

24. 99,000 B A, B 3R ¢ P o7 fAUITId fran ST 81 A 3R B % YR BT 3IUIT 3: 78I BRI IR C P
YR B15/781 AR CH IR AR @R g ?

A.Rs. 34000 B. Rs. 15000 C. Rs. 35000 D. Rs. 49000 E. S99 A IS gl

25. &t iR Sish & Higd gRT UT 3idh HH: 4: 5 & U H g, SIafdh T 3R fag™ & Mga gr
T 3ihl T ST HH: 5: 6 81 I61-1 SIS B o1 H fa5 H 36 3icb 3ifiie U by 3R &t
& ga H TN H 32 3iel oifies 3id UT favw | HigH g1 feet TR fasm & v 3iet & SruTd
Tl T |

A.5:6 B.6:7 C.2:3 D.1:2 E.4:5

26. RN MR BT BI 3T 5: 4 B U H § 3R 3P T 3: 2 % U A 81 (S TP 6000 T FATAT
g, A R B 3 B bl 3

A. Rs. 12000 B. Rs. 15000 C. Rs. 16000 D. Rs. 10000 E. 378 I dis ol

27. 2 < 3R 3 WY Pt BIAT 2200 TTY 3R 2 ST 3R 4 VS BT BIAT 2400 YT g1 S 3R S B
ANTd Yo o S b1 3{UTd ST Sifod |

A.8:9 B.10:7 C.6:5 D. 11 : 10 E. STH I dis ol

28. TP gHMGR & UM 11: 17 % 3UTd H B3 99 R X €1 39 aHl al Bl T [Fidd T & sl
T U B3 3dT §, oY b UdS e & A e 7 A 3R THH T § IR gid &1 afe T
aﬁ%ﬁﬂW% Tl &I BT & g DI 3R 72 B, 3R S B WSAT 16 8, AT Bdll DI Hdl G
H(g?

A. 5440 B. 5376 C. 5200 D. 2240 E.3TH A PIs Tall
29. U o1 &l I Uiet 3R el § T Tl Bl Ue HRd & ford Uial 3R =iiel &% 1: 3 & i J 7

e Sl Miene & diar 3R Tt & BT 3UTd 4: 9 €, Ol fFara e & e aoea et miane &
a1 &% d &1 ufazid fear g»

A. 17.89% B. 24.45% C.21.17% D. 23.81% E. STH A BIs Tal|
30. <l ufdaal o A1 31 4: 5 % SUTT | g 3R IeT HIRIS T 7: 9 & U | 7| A T &
TSI ® 50 B I9d Bl §, ) SD! HIRID T FAT7?

A.Rs.400,Rs 500  B.Rs200,Rs250  C.Rs 100, Rs 125 D.Rs300,Rs375  E.STH A ®DIS Tall




31. TYP dH I §; T, feeam 3R e Qe SR o & Aifiies 319 7 3Iurd U 5: 6 § 3R
T 3R e Bt AR ST HT SFUTd SHHRT: 4: 3 5| HY B HTRIS 31 I9b Gt i il &1 pa
Wémﬁa%ﬂ:ﬁ%l g [Y P HIRTH 3T 26600 IUY ¢ <l ST bl ot SR BT Ja9 TGl
IRy 3T T &2

A. Rs. 5500 B. Rs. 5600 C. Rs. 4600 D. Rs. 5400 E. Rs. 5800

32, TOIWR 3R FHIGR &I da- SJUTd U T Ugd 3: 4 UT| {USd a9 SR 39 a9 & daq & o 3
Wéﬁm 3IOTd SHHRT: 4: 5 3R 2: 3 §| IAHH & SAHT $A da 4160 § | TSR FT aTHM

A. 1200 B. 1400 C. 1600 D. 1800 E. ST A IS g1

33. T MdIRIBIp, @ 3R R & o9 T FAidd a9 fauiord fosar mar o1 A $d p 3R R BT TH
feTgTS HIT U7t T 37R p A et @ SR R BT Ueh <IUTS HINT UT feb | SHA: P, Q MR R b AW b
3IUTd T Udl T4 |

A.5:4:11 B.4:5:11 C.5:11:4 D.11:4:5 E. S8 I dis ol

34. Iier U g8 THT S 14 i Bt ot 59 ITDT AT 34 it B N 10 T BT B 6 Y & &G AT
3R T BT AT BT 3IUTd 2: 1 81T | fooe a8 & &8 SD! ST BT AN 39.33 T G2

A 339 B.2 Y C.4dY D. 1Y E. 5%
35. U ATGHY 125000 F U 4 Uferdt H fIHTRIT Rl | Ugel! Ul o 3R T 2 T, GO Uet & o

B1 3 7T, TR It o G &7 4 7T 3R A1 Ut T e BT 6 T SRR &1 <) Tt 1 et
NIREIGEIINEE

A. Rs. 20000 B. Rs. 30000 C. Rs. 35000 D. Rs. 40000 E. Rs. 25000

36. 4 9Q UG, & Gl [ARTC 3R fEA=T &1 3T T SUT 3: 1 UT| 39! aHH 3T 4 T I A g1 298
& TG 31! TG BT 3d J1d Piod?

A 12T B.14 dY C.11 9 D.134Y E.10dY

37. 3 3R ATAPBT BT T TG HH: 3: 2 P U | g1 9 T U, 39 3R T Bi 3G BT
&a’%mmm:mszn&ﬁ?w%mmoaé@ﬁﬂam 3 Td 91G 3o 3R T Bt 3G HT 3aTd
TR |

A.5:8 B.4:5 C.8:9 D.3:4 E.7:9

38. 5 T §1G ST &1 Y AT Bt S F 5 FTd SATal R | ST SR ST & add g &1
3{ATd 7: 6 § | 6 T SIG e 3R 3Mferdr &1 I a1 gIft?

A. 44,39 B. 42,37 C. 41,36 D. 38,33 E. 40, 35




39. adt @t e Horgd i 300 T B F x TR & Uf=rd A SR SIFah! 1 S Hoig! &1 22.5% &
19 BT ST 2: 1 €| TS STDT BT G- ASIGR] BT X% 60 % P SRIER ¢ | ) X BT A 1A Do |

A.25 B. 30 C. 300 D. 250 E. 40

40. TS S H 78000 HHART § o0 T T3 3R AR HH: 7: 6 SIIATA H & | TS & I 35% HR &
0T HTH HRIG & R ARREsH H F 25% HR & =T H HTH R I8! & | HU- A HR & &0 T HTH B
R HHATRGT T Bt TS T 82

A. 25700 B. 27700 C. 23500 D. 23700 E. ST A IS gl

41, IR B B 3 5: 4 % UM A § SR 1 W 3: 2 & 3T H 5| Af UAH 6000 T T
g, I IR P 31T B Tl 6

A. Rs. 12000 B. Rs. 15000 C. Rs. 16000 D. Rs. 10000 E. STH A IS gl

42. o g i 24 B QA1 Yg W8, 18 HIC THT LG WA BT 3/4 8 3R 20 BT AT G T BT
5/6 8, 18 BT UM H 3R 20 ¥c T T Y A HT U g |

A.5:8 B.9:10 C.10:9 D.8:5 E. S0 I dis ol

43. g4t 35 HHATNRGT B I BT 3T 22000 TUY §1 Afe T+ Fafrg sH=Ral &1 eida dd 25000
IUY § 3R It UTé Tr5H HHATRGT BT 3 Fd dd- 18000 U 8, ol Hu=t & g+ fFafid se=mial
3R Tt uTé 18y SHHat & SIuTd BT udl T |

A4:3 B.5:3 C.4:5 D.5:4 E. T8 J dis ol

44, A 3R B P AT BT UM HH: 7: 8 § STadh B 3R C P T BT UM 5: 481 A AR CHI AT H
T P R I DR ARG A, B 3R € B 3T T 3T 10700 % & |

A. Rs. 1050 B. Rs. 700 C. Rs. 800 D. Rs. 600 E. Rs. 900
45, IHA A, B AR c T BEI Pt G- HAR: 5: 4: 8 H U | ¢| TS BT B T-T H AT I8 HH:

40%, 75% 3R 25% P! g B8 & 3R da Jfg & 916 $d B DI AWAT 1200 §, A1 L& A SHT B
o T 11 At?

A. 900 B. 800 C. 850 D. 750 E.3TH A IS 8l

46. A 3R B ®T ARG a4 HHRT: 8: 9 B JUTT H g1 A BT HIRID W B DI ARG ad F 140% 31fedH
21 B BT HIRIS W A P HIRIE Td J 2000 ¥YY HfYF g1 TS A 3R B Pt HINID Sod HH: 4: 5 F
AT H B AN A 3R B &F AT I & 3R &1 UaT avmd |

A. Rs. 4000 B. Rs. 18000 C. Rs. 36000 D. Rs. 45000 E. STH A IS gl




A7. 4500 BT MTETET aTet XER T, IO SR ARTATSN T 30T 3: 2 § 3R Alganrsit 3R Tl BT SUTd 4:
x B | TR - UIfeiepT & g1d 1, & SEHIGAR 8Id §, Sl Bl AIc o @t AT g1 sicht & SR 10% A
3T = S{UAT dic g! STa 5 | afe fasidr SWEaR 400 dlet T SidTl 3R IR 37 SFHIGAR & 1150
dre firdt, @ 'x &1 HH I1d FifoTe |
[le: ER B! HA TGS = TN + AT + F=]

Al B.2 C.3 D.4 E.5

48. U DI 3T 4 TN TG (x + 4) TY GRN, TAH P 3G 6 TY UG (y - 6) TS T TAH P gaHM 3
TR &1 IFHM T F SR F 10 T HH g | THRT BT 31 5 T8 916 TH Bt gdqH TG Y 5 T8 HH
BT | JIHTRT &1 TFHM ST 3R YT &1 acTA 311 HT ST J1d BIfoTg |

A.3:5 B.4:5 C.1:3 D.3:4 E.2:3

49, 5 Td Ugd, fUdr &1 3G Ik o Bt I B 2.25 THI Al 2 1 o716, T DT 39 ITD! 9t DI Y Bt
2.6 T Y ST § | 3R deT 31 7 ITe &187 7, <1 T & afA I &1 Ul amd |

A. 4599 B. 60 AN C.55ay D. 50 9Y E.704dY

50. U URAR & HIoH, 1T 3R fastelt OR W 5: 15: 3 & Srqurd A § | HioH, fHRg SR foorelt iR @<
HHLT: 20%, 10% AR 30% F1 81 IRAR H1 Fd W 39 UHR fara Ufawrd g1

18 17 18 11 17
A 12—% B.11—% C.14—% D. 24 =% E. 5—%
23 21 23 21 23




CORRECT ANSWERS:

1 D 11 D 21 A 31 B 41 B
2 E 12 B 22 D 32 C 42 B
3 E 13 C 23 D 33 B 43 A
4 D 14 E 24 A 34 B 44 E
5 B 15 B 25 D 35 E 45 C
6 B 16 B 26 B 36 E 46 E
7 C 17 A 27 B 37 C 47 E
8 D 18 B 28 B 38 C 48 E
9 D 19 C 29 D 39 B 49 D
10 D 20 D 30 A 40 D 50 C
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Explanations:

1.

We have been given that alloy A contains gold and silver in the ratio 2 : 1. Let there be 21x units of A.
So it will have 14x units of gold and 7x units of silver. Let there be 21y units of alloy B. So we have 9
units of silver and 12 units of platinum. Let these two be mixed to get the desired alloy.

Hence, the total amount of gold in alloy C will be 14x and total amount of platinum will be 12y. We
have been given that

Thus alloys A and B must have been mixed in the ratio5 : 7

Thus, the share of silver in the final mixture
_35+63 98 49
T 252 252 126

Hence, option D is correct.

Let the income of Asha in 2018 and 2017 be 3x and 5x respectively.
Let the income of Ravenna in 2018 and 2017 be 3y and 2y respectively
Since, the ratio of their income in the year 2017 was 5: 4
5x:2y=5:4

2x =y

The sum of their incomes in 2018 is Rs. 10242

3x+ 3y =10, 242

9x =10, 242

x=1,138andy = 2276

Ravenna’s income for the year 2017 = 2y = Rs. 4552
Hence, option E is correct.




As they together have 12 apples, each person gets a share of 4 apples. Chandu took 4 apples as his
share and paid 12 coins of the 4 apples. 1 apple is given by Bharat and 3 apples are given by Aravind.
The ratio of apples of Aravind and Bharat =3 : 1.

They must be paid in that ratioi.e.,3:1
. . 3x12 .
Hence, the number of coins that Aravind should get = 2 - 9 coins

Hence, option E is correct.

Let the score of the topper be T.
Total score of the 52 students = 52 x 85 = 4420

Total score of the remaining 47 students after scores of the best five performers are removed = 47 x 83
=3901

Total score of the top five students = 4420 — 3901 =519
T + (total score of the next 4 top scores) =519
T is the maximum when the total score of the next 4 top scorers is minimum.

Total score of the next 4 top scorers has a minimum value of 80 + 81 + 82 + 83 = 326 (since all the top 5
scores are distinct) and the least is 80.

T has a maximum value of 519 — 326 = 193

Hence, option D is correct.

Ratio of the number of coins of denominationsRs. 1:Rs.2:Rs.5=5:7:6
Let, the number of coins of Rs. 1, Rs. 2 and Rs. 5 in the bag be 5x, 7x and 6x.
Since, the total value of Rs. 1 coin in the bag is Rs. 15

So, the number of coins of Rs. 1in a bag =15

5x=15,=>x=3

Therefore, number of Rs. 5 coins in the bag = 6x = 18

So, required value of Rs. 5 coins =6 x 3 x5 =Rs.90

Hence, option B is correct..
Let the children be P, Q, R and S and Father be F




ChocolateswithP: Q:R=3:7:11

Let the number of chocolates be 3k, 7k and 11k
Total chocolates with three eldest children = 21k
Chocolate with Fand S = 3 x 21k = 63k

Total chocolates = (21k + 63k) = 84k

Chocolate withF: (P+Q+R+S)=3:4

Total 7 units of chocolate = 84 k

1 unit = 12k

Chocolate with F = 3 x 12k = 36k

Chocolate with S = (63k — 36k) = 27k

27k=81 - k=3

Total number of chocolates = 84k = 84 x 3 =252

Hence, option B is correct.

Let the car is rented for 8 hours or less.

Then the number of hours it is rented for

800
100 - 8 hours

But if it charged Rs. 8 per km, the amount that should paid be 120(8) = 960
But he paid only Rs. 800

The car is rented for more than 8 hours
Number of hours = 800 =10 hours

If it is charged at Rs. 6 per km, the amount that should paid be 120(6) = Rs. 720 which is less than s. 800
Sumit rented car for 10 hours.

Hence, option Cis correct.

Let the strength of A = 16k and that of = 8k




Section A ratio of Boys: girls =3 : 1 - boys = 12k and girls = 4k

Section B ratio of boys: girls = 3 : 5 - boys = 3k and girls = 5k

A + B —boys = 15k and girls = 9k

Maximum number of students in a row = HCF (15k, 9k) = 3k > 3k =96 = k=32
Difference between boys of section Aand B =12k —3k =9k - 9 x 32 = 288

Hence, option D is correct.

0. Let, marks obtained by Shubham in theory and total marks of theory be ‘7x’ and “10x’ respectively
So, total marks (theory + practical) = 10x + 2x = 12x

Marks obtained by Shubham (theory + practical) = 7x + 2x = 9x
9% 3
So, reqd. ratio=——=—
\ x 4
Hence, option D is correct.

10. salaryratioof A:B=5:7andB:C=3:5s0A:B:C=15:21:35andA:C=3:7

Salary (A) = 165,000 so salary of (C)
7
=3 x 165000 = Rs. 385000

C spends 28.56% on rent => C spends 2/7 on rent so remaining will be 5/7 of salary
- 5
Remaining = 7 x 385000 = Rs. 275000

Hence, option D is correct.
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12.

13.

John 4x,
Kelvin 7x

And expenditure be:

John = 6y........ (i)
Kelvin - 11y

John spending = John’s earning — John’s savings

4x 8
John’s expenditure = 4x — ?X =3 X cuvreeenanns (ii)
(i) = (ii)
6y=§x:5=2
3 y 4
4
4x— (=x) 6
 ax-ey ¥ ()6 36-24 1
Reqd. Ratio = = = ===
7x =11y 4 63-44 19
7x—(§x) 11

Hence, option D is correct.

Let the monthly income of Imran and Irfan is Rs. R and Rs. S respectively.

Then, according to the question
Ratio of their monthly income=R:5=8:5

Let us assume it 8x and 5x, then the difference between their monthly income
= 8X—5X=3X ceeeennenn (i)

Let the monthly expenditure of Imran is Rs. 100a
Then the monthly expenditure of Irfan = Rs. 60a
Ratio of Imran’s and Irfan’s expenditures = 100a : 60a=5:3

According to question :
8x—12000 5

= =
5x—-10000 3

= 24x — 36000 = 25x — 50000

= x = 14,000

-~ Required difference = 3x = 3 x 14000 x 12 = Rs. 504000
Hence, option B is correct.

Let, the rate of interest in scheme A be 7x and scheme B be 5x




14.

15.

16.

. XXSXA—YX3X1
- 100 100

U
<1x
1
Nilo

Reqd. ratio=5:7

Hence, option Cis correct.

P beats Q by 25 m.
Means if P runs 300 m, Q will run 275 m.
When Q runs 300 m, R will run 285 m.

275 % 285
If Q runs 275 m, Rwill run = T =261.25

It means, P will beat R by (300-261.25)=38.75m

P Q R

300 | 275 ?

300 | 285

Hence, option E is correct.

Let the income of A = 3x then the income of B = 4x
The expenditures of C = 5000

The expenditures of A =5000 — 2500 = 2500

The expenditures of B = 2500 + 1000 = 3500

Let us consider the ratio of A and B only
3x—2500 4
4x-3500 5

15x — 12500 = 16x — 14000

X =1500

The saving of A = 3X—2500 = 4500 — 2500 = 2000 = 4Y

Y =500

The saving of C = 6y = 6 x 500 = 3000

Hence, option B is correct.

Let the number of boys = 7x and the number of girls = 5x




17.

18.

19.

Let a boys and b girls left the school then the ratio

N

x
|

]

U
x
|
o
[S2RRN]

By solving,a:b=7:5
100

7 x
The reqd. percentage = =140%

Hence, option B is correct.

According to the question, 33.33% of the number of male= 1/2 of the number of female

Male female

3 2

Male : Female=3:2

Let Male = 3x and Female = 2x

Then sum = 5x = 250, x = 50

Required difference = 3x — 2x =x =50

Hence, option A is correct.

5 years before, let the age of father = 5x then the age of son = x
At present, the age of father = 5x + 5 years and the age of son =x + 5

10 years hence, the age of father will become 5x + 5 + 10 = 5x + 15 and the age of son will become
=x+5+10=x+ 15 years

According to the question

5x + 15 = 2.5(x + 15)

By solving, x =9

At present, the age of father =5x + 5 =50 years and the age of son=x+5=14
The required ratio= (50 + 14): (50 -14) =64 :36=16:9

Hence, option B is correct.

Let the length of the electric stick = x meters

In the first minute, black part




=1x X meters = X meters
T8 "8

. 7x
Remaining =x——= ? meters

00 | X

Blue part = 2/7th of the remaining

—sz—imeters
87 4

7x 5x
Remaining = E_ = E meters = white part = 15 cm

X

By solving, x = 24 cm

Hence, option Cis correct.

20. Lettheincomes of Arun and Varun be 5a and 7a respectively.
Let their expenditure be 3b and 4b respectively.
Savings = Income — Expenditure

Arun's savings  (5a—3b)
Varun's savings (7a —4b)

The values of a and b are not known.
Hence, the ratio of savings cannot be determined.

Hence, option E is correct.
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21. Let the number of employees earlier = ‘3a’

Then, number of employees now = ‘2a’.
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22.

23.

* Average salary of employees earlier = ‘4b’,

-~ Average salary of employees now = ‘5b’.

= Total salary of employees earlier =3a x 4b =12ab
= Total salary of employees now = 2a x 5b = 10ab

= Difference = 12ab — 10ab = 2ab

Given that,

= 2ab =Rs. 12,000

Then, initial expenditure = 12ab = 2ab x 6 = Rs. 72000

Hence, option A is correct

Amit's income = X 3x and his expenditure =X 5y
Veeru's income = X 2x and his expenditure = X 3y
As per the question,

Amit's savings = Veeru's savings

& 3x—5y=2x-3y
= x=2y
~ 3x—5y=1000

= 6y — 5y =1000

= y=1000

~ x=2000

~ Amit's income = 3x = 3 x 2000 = X 6000

Hence, option D is correct.
Let the present age of Reena, Sandhya, Yamini and Sujata be R, Sa, Y and Su respectively.

R+Sa+Y+Su=21x4=284years...(i)

R+ Sa=Su+14...(ii)




24,

25.

Su-Sa=4

Sa=Su-4

Su—-R=6

R=Su-6

Put the value of R and Sa in (ii)
Su-6+Su—-4=5u+l14
Su = 24 years

R =18 years

Sa =20 years

From (i), Y = 22 years
Average age after 3 years,

18+3+20+3+22+3

= = 23 years
3 y

Hence, option D is correct.

Ratio of shares: A:B=3:7

5
B=;C:>B:C=5:7

Making the ratio of Bcommon
A:B=3x5:7x5=15:35
B:C=5x7:7x7=35:49
=>A:B:C=15:35:49

49 - 15
Difference between shares of A and C = ———————x 99000 = Rs. 34000
15+35+49
Hence, option A is correct.
Let, marks obtained by Mohan in Hindi and English be 4x and 5x, respectively

And, marks obtained by Mohan in Maths and Science be 5y and 6y, respectively

So, by —5x =36
36 + 5x
6

y:




26.

27.

28.

And, 5y—4x =32
36 + 5x

X

—4x =32

180 + 25x — 24x = 192
x=12

96
So,y=—==16
=%

Required ratio=4x:6y=4x12:6x16=48:96=1:2

Hence, option D is correct.

Let the ratio of their income be 5x and 4x and their expenditure be 3y and 2y.
So, 5x — 3y = 6000 and 4x — 2y = 6000.

On solving the above equations we get x = 3000 and y = 3000

Suresh’s income = 5x = Rs. 15000

Hence, option B is correct.

Let the cost price of one shirt = Rs. x, the cost price of one jeans = Rs. y

According to the question,
2x + 3y =2200....1

2y + 4x = 2400

2x +y=1200....2

After solving these 2 equation,

x=Rs.350.,y=Rs.500

Ratio=500:350=10:7

Hence, option B is correct.

Let the total number of apples and oranges be 11k and 17k

The difference between the fruits of two varieties in a box will be in the same ratio 11 : 17

Difference between apples and oranges = 72 = 6 units (17 — 11)

Total fruits ina box =(11+17) x 12 =336




29.

30.

31.

Total boxes = 16

Total fruits = 16 x 336 = 5376

Hence, option B is correct.

Ratio of yellow and blue =1 : 3 (4 parts)

Ratio of yellow and blue in upper hemisphere =4 : 9 (13 parts)

Let the total sphere be divided into 52 parts, then as per the ratio, the number of parts = 13 yellow and
39 blue parts

In upper hemisphere there will be 26 parts, as per the ratio (4 : 9), number of parts = 8 yellow and 18
blue parts

Number of parts in lower hemisphere = Total — upper hemisphere

Yellow parts = 13 — 8 =5 parts and blue parts =39 — 18 = 21 parts

Reqd. % = 251 x 100 = 23.81%

Hence, option D is correct.

Let the income of two persons be Rs 4x

and

Rs 5x and their expenses be Rs 7y and Rs 9y respectively.
Then, 4x — 7y =50 .... (i)

And 5x — 9y =50 .... (ii)

On solving Egn. (i) and (ii), we get

x=100andy =50

= The income of persons are Rs 400 and Rs 500

Hence, option A is correct.

Let the income of Sonam and Divya be Rs 5n and 6n respectively.
According to the question

ratio of income of Radha and Divya=4:3=8:6

Hence ratio of income of Sonam, Divya and Radha=5:6:8




Now sum of their total income = Rs (5n + 6n + 8n) =Rs 19n
According to the question income of Madhu = Rs (2 x 19n) = Rs 38n
Hence; 38n = 26600

=>n=700

From the ratio it is clear that the income of Radha is highest amongst all the three friends of Madhu
hence total monthly income of Radha = Rs (8 x 700) = Rs 5600

Hence, option (B) is correct.

32. Let the salaries of Gajodhar and Manohar one year before be, a,b respectively and now be c,d
respectively.

1
N P ow
w U N

b
1 C
|

o oL o

It is given that c+ d = 4160

axd 6 d 3 6

=—or—x—-==
bxc 5 ¢ 4 5
222 1 d=4160
d_8

5
== % 4160 = 1600
ST

Hence, option (C) is correct.
33.  According to the question:

Q:%X(P+R)
=3Q=P+R - (i)
P=%X(Q+R)




34.

Putting the value of P in equation (i)

Q+R
4

3Q = +R

=12Q=Q+R+4R
=12Q=Q+5R
= 11Q =5R

=l
11

Q
> — =
R

Let Q =5xand R =11x
Putting the values of Q and R in equation (i)

3x5x=P+11x

= 15x = p + 11x
= P =4x

Hence,P:Q:R=4x:5x:11x=4:5:11

Therefore, option B is correct.
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Let the present age of Seema be x years
Sweeta’s present age = x — 10

When Seema was 14 years, mother was 34 years. So, when Seema is x years, mother will be =34 - 14 +
X

Mother’s present age = 20 + x
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According to the question,

x+20+6_g
x—10+6 1

=N

X =34 years

Seema’s age = 34 years
Sweeta’s age = 24 years
Mother’s present age = 54 years

34+24+54
Average = T =37.33 years

After 2 years, Seema’s age = 36 years, Sweeta’s age = 26 years, Mother’s age = 56 years
Average after 2 years,

_36+26+56

A
Vg 3

=39.33 years

Hence, option B is correct.
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35.  Let Wi, W2, W3 and W4 be his 4 wives.
Given that,
Wi+ W2 + W3+ W, =125000...(i)

2W;1=3W; =4W3 = 6W;4 =k
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36.

37.

Substituting the value in terms of k in (i)

E+E+E+E-125000

2 3 4 6

k(l+l+l+— =125000
2 3 4 6!

k (%%) = 125000

k = 100000

Amount received by third wife

k 1
=—=M=Rs. 25000

Hence, option E is correct.

Let the age of Virat and Dinesh be V and D respectively

Given that,

4 years ago,
Virat will be (V — 4) years and Dinesh will be (D — 4) years

(V-4):(D-4)=3:1

Using (1), we get D =6 and V = 10 years
Average of their ages after 2 years
V+2+D+2

2
Hence, option E is correct.

=10 vyears

Let the present age of Arjun and Radhika be 3x and 2x respectively.

And the present age of Shyam be y years.

So,y—2x=10
y =10+ 2x...(i)
3x-9 4
y-9 5




38.

39.

15x — 45 = 4y — 36
15x — 45 = 4 (10 + 2x) - 36
15x — 45 = 40 + 8x — 36

x=7
y=24

3x+3 21+3
Reqd. ratio==———="—"-=8:
eqd. ratio y+3 - 24+3 8:9

Hence, option Cis correct.

Let the present age of Deepika and Alia be 7x and 6x respectively.
5 years hence,

Deepika’sage=7x+5
Alia’sage=6x+5

Given that,
7x+5=5+6x+5

Xx=5

Present age of Deepika = 35 years and Alia = 30 years
After 6 years, age of Deepika = 41 years and Alia = 36 years

Hence, option Cis correct.

Smart Approach :

It can be done fast if we see the options:-

Subtract 6 years from the age given in options, then check whether the ratio comes outtobe 7: 6

In this case only option C satisfies it.
Hence option C is correct

Let Janki's daily wages be Y.
As per the question,

X% x300:22.5%xY=2:1
(Xx300)x1=2x(Yx22.5)

20xX=3xY
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Y=20xX=+3

Given X% of Y = 60
X+100x20xX+3=60
X%2=1900

X=30

Hence, option B is correct.

Number of males in the company

7
= = 2
3 x 78000 = 42000

Number of males working as HR = 13.% x 42000 = 14700

6
Number of females in the company = 3 x 78000 = 36000

25
Number of females working as HR = 100 x 36000 = 9000

Total number of employees working as HR = 14700 + 9000 = 23700

Hence, option (D) is correct.
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41].

Let the ratio of their income be 5x and 4x and their expenditure be 3y and 2y.
So, 5x — 3y = 6000 and 4x — 2y = 6000.

On solving the above equations we get x = 3000 and y = 3000

Suresh’s income = 5x = Rs. 15000

Hence, option (B) is correct.
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42.

43.

44.

3 3
18 carat gold = Zpure gold = 2 x24 =18

5 5
20 carat gold = E pure gold = E x24=20

= Required ratio=18:20=9:10

Hence, option (B) is correct.

Method I : We can solve this question by applying alligation method
25000 18000

\ /

22000
/ \
4000 3000
4 = 3

Method Il :  Let number of regular and part time employees is ‘R and ‘P’ respectively.

R+P=35....(1)

Total salary of regular employees = R x 25000

Total salary of part time employees = P x 18000

Total salary of all 35 employees = 35 x 22000 = 25000R + 18000P
= 770=25R+ 18P ..... (2)

From (1) and (2)-

= (25R + 18P)— 18 x (R + P) = 770 — (18 x 35)

= 7R =140

= R=20

Required ratio=R:P=20:(35-20)=20:15=4:3

Hence, option A is correct.

The ratio of the incomes of A, BandC=7x5:8x5:4x8=35:40:32

Let the income of A, B and C be Rs. 35x, Rs. 40x and Rs. 32x
Average of the income of A, B and C =Rs. 10700

35x + 40x + 32x
3

=10700

107x = 10700 x 3

x =300
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46.

Income of A = Rs. 10500

Income of B = Rs. 12000

Income of C = Rs. 9600

Required difference = 10500 — 9600 = Rs. 900

Hence, option E is correct.

Let the students in school A, B and C = 5x, 4x, 8x

After increment, students in school A = 5x x 140% = 7x
After increment, students in school B = 4x x 175% = 7x
After increment, students in school C = 8x x 125% = 10x
According to the question,

7x + 7x + 10x = 1200

24x =1200

x =50

Students in school A initially =5 x 50 = 250

Students in school B initially = 4 x 50 = 200

Students in school C initially = 8 x 50 = 400

Required number of students = 250 + 200 + 400 = 850

Hence, option Cis correct.
Let the monthly savings of A and B are Rs. 4x and Rs. 5x respectively

Monthly expenditure of A = 2.40 x 5x = Rs. 12x

Monthly expenditure of B = Rs. 12x + 2000

So, monthly salary of A = Rs. (4x + 12x) = Rs. 16x

Monthly salary of B = Rs. (5x + 12x + 2000) = Rs. (17x + 2000)

So, according to the question,

4x + 12x
5x +12x + 2000

_8
"9




47.

2X
17x + 2000

1
9

18x = 17x + 2000; x = 2000

So, monthly salary of A =16 x 2000 = Rs. 32000

Monthly salary of B =17 x 2000 + 2000 = Rs. 36000

Difference in the monthly salaries of A and B = 36000 — 32000 = Rs. 4000
Difference in the yearly salaries of A and B = 12 x 4000 = Rs. 48000

Hence, option E is correct.

Ratio of Male : Female : children=3x2:2x2:x=6:4:x

4500
Number of children in town = X x 4500 = X
10+ x 10+ x
10 45000
Number of people eligible to vote = Number of males and females = —— x 4500 =
10+ x 10+ x
45000 4500
Number of people who didn’t cast their vote = 0.1 x =
10+x 10+x

According to question

45000 4500
- =1150 + (1150 + 400)
10+x 10+x
40500 - 2700
10 + x
x=5

Hence, option E is correct.
Alternate solution:-

Total votes got by winner and runner up = (1150 + 400) + 1150 = 2700

These 2700 votes are given by 90% of male and female as 10% of male and female did not cast their
vote.

So, 90% of total male and female = 2700
So, Total male + female = 3000
Therefore, number of children = 1500

Ratio of Male : Female : children=3x2:2x2:x=6:4:x




The number of children is 1500 which is half of the total number of male and female which is 3000.

So, x will be half the number of parts of male and female in the ratio which will be equal to 5 as total
part of male and female is (6 + 4 = 10)

Hence, option E is correct.

48. Shubhash’s age 4 years hence is (x + 4), so his present age is x years.
Poonam’s age 6 years ago is (y — 6), so her present age is y years.
y=2x-10.......(>i)

X+5=y-5...(ii)

Solving both the equations,
x=20andy=30years

20
Reqd.ratio=—=2:3
eqd. ratio = -

Hence, option E is correct.
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49. Let the present age of father, son and daughter be F, S and D respectively.

According to the question,

5 years ago, the age of father is 2.25 times the age of son.
F—5=2.25(S-5)

F=2.255-5(2.25—-1)

F=2.255-6.25 ..(1)

2 years hence, the age of father becomes 2.6 times the age of daughter,
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50.

F+2=2.6(D+2)
F=2.6D+2(2.6-1)
F=2.6D+3.2 (2)

S-D=7 .(3)

From (1) and (2),
2.255-6.25=2.6D +3.2
2.255-2.6D=9.45 ..(4)
Multiply (3) by 2.25 and subtract it from (4)
-0.35D=-6.3

D =18 years,S=18+7 =25 years
Substituting value of D in (2),
F=26x18+ 3.2

F =50 years
Hence, option D is correct.
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The expenses on food, rent and electricity of a family are in the ratio 5 : 15 : 3 respectively.

Let the expenses on food, rent and electricity be Rs. 5, Rs. 15, Rs. 3 respectively

Increase on food - 20% on 5i.e.,Rs. 1

Increase onrent - 10% on 15 i.e., Rs. 1.5
Increase on electricity - 30% on 3 i.e., Rs. 0.90
Total increase in expenses = Rs. (1 + 1.50 + 0.90)

Reqd. % = (1+1.50+0.90) x 100 _340 18
. /0 — =

5+15+3 23 23

% =14 —%
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Hence, option Cis correct.
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